CLASS : 12th (Sr. Secondary) Code No. 2011
Series : SS-M/2017

Roll No. SET : A

ST

ECONOMICS
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh Candidates)
(Evening Session)

Time allowed : 3 hours | [ Maximum Marks : 80
o FYT T F T [ 5 T F FRT J97 19 &

Please make sure that the printed question paper are contains 19
questions.

o U97-YF 4 qle7 & # X 57 T4 FIS TR T § # HHA TACYdH & JeH-JC
77 ford)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

®  FYF FIT F TV [TGT @ FNA G U, J97 B FHH HTT [7G)

Before beginning to answer a question, its Serial Number must be written.

o FUCYRaHE % & 7 @l g/ G 7 881

Don't leave blank page/pages in your answer-book.

o FTCYRTHE % GfaRFT #g o dfic TE AN o FaeTEATEr & fd v
fer@r T T e

Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.

2011/ (Set : A) P.T.O.
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(2) 2011/ (Set : A)
o GOETf STYT U To FIF-UFH GT SasT g

Candidates must write their Roll Number on the question paper.

o U F¥T % Fav @7 @ {@ 77 ghhEd & @ [ FeTe [ 7 78 & qher &
FYUT 3G T F i3 4 qar w&hHe T8 R wam

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.

T 7397 -
(i) & g S 8
(i) 9% 597 -2 freia 5% croca a7 g
T 81

(ii) 707 @& 1 B FTE (i-xvi) TGS Fo7 & T T & I9F FoT 1 3%
&

(v) 997 G&q1 2 @ 8 T SHlA-TgAUHE J97 & 174 J9% 797 2 ofH & 8
Je9% ® FIT GG 30 K] @ 4% TEl & EET

(v) Fo7 G 9 G 16 T% TLAUHE 97 & [777 J9% 597 4 ST & 81 JA%
& ITT GHET: 60 SIG G 9% TE &I FAMeTl

(Vi) F97 & 17 @ 19 7% Y FTIHE JI97 & 75 J9F 597 6 B T 8
J9% & F¢ @rEra: 130 & @ 3% T8 & dhEg

2011/ (Set : A)
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2011/ (Set : A)
(vii) WWWW??#WWWWW?/ o 7ot 7 & o BT

g% & 797 & &1
(viii) T=-FHAT G, FAEHE T G FT T T AT TE 8
General Instructions :
() All questions are compulsory.
(i) Marks for questions are indicated against each.

(ii) Question No. 1 is divided into sixteen (i-xvi) objective type

questions. Each question carries 1 mark.
(iv) Question No. 2 to 8 are very short answer type questions carrying 2
marks each. Answer to these should normally not exceed

30 words each.

(v) Question No. 9 to 16 are short answer type questions carrying 4
marks each. Answer to these should normally not exceed

60 words each.

2011/ (Set : A) P.T.O.
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(4) 2011/ (Set : A)

(vi) Question No. 17 to 19 are long answer type questions carrying 6

marks each. Answer to these should normally not exceed
130 words each.

(vii) Internal choice is available in all long answer type questions. You

have to attempt only one of the given choice.

(viii) Word limit is not applicable to formulae, numericals and

diagrammatical questions.

[ a5 99 ]

[ Objective Type Questions ]

[T 997 % @&l e gl -

Choose the correct alternatives of the following questions :

1. () 3R oF I F Ao H FEARIE g A A JAEA GHEA a6 (PPC) B
T Refq 2Rl ? 1

(37) SRS EHEAT 9 A X e @ Rawe S
(@) SR dHE 9 SR SR S & Rawe S
() S d e 9 § @i giadd Tel arm

2011/ (Set : A)
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(5) 2011/ (Set : A)
(7)) S @ % ©

If the efficiency of the resources of a country decline then what will

be the positions of the Production Possibility Curve ?

(A) Production possibility curve will shift downwards to the left.
(B) Production possibility curve will shift upwards to the right.
(C) Production possibility curve will not change.

(D) All of the above are correct.

i) fr= & 9 f-a1 guftc o 7@ 2 ? 1

Which of the following is not a macroeconomic factor ?
(A) Aggregate demand

(B) National Income

(C) Trade Cycles

(D) Consumer Equilibrium

(i) R aEgel W AT @ @ e © 7 1

2011/ (Set : A) P.T.O.
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(6) 2011/ (Set :

On which commodities, the law of demand is applicable ?
(A) Giffen goods

(B) Normal goods

(C) Substitution goods

(D) Articles of Distinction

Indifference curve is ......... to the origin.
(A) Concave line
(B) Straight line

(C) Convex line

2011/ (Set : A)
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(7) 2011/ (Set : A)
(D) None of these

(v) 9G¥ 0% 599 & I B AR HAT & ° 1

Who issues one rupee note in India ?
(A) Reserve Bank of India

(B) Govt. of India

(C) Commercial Banks

(D) Govt. of Haryana

=i &7 @&t & ar T, AT -

State whether the following statements are true or false :
(vi) ‘P @&y, AT » EH F AERE B 1

'Giffen Good' is an exception to the law of demand.

(vii) NEd ARG a6 U-STR & il 2 1
Average cost curve is U-shaped.

2011/ (Set : A) P.T.O.
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(8) 2011/ (Set : A)
(vii) ff & & At oA & TS o 1

Supply can be more than stock.

(ix) T T 0T T Ja® =) B 1

'Interest on Capital' is a flow variable.

(x) U U ot H e & B 1

Pension is included in national income.

(xi) X TH AN FEAH 2 1
Tax is a compulsory payment.

R &7 47 -

Fill in the blanks :

(xii) 59 HFA H To1 W Y 96 TN 8 A T4 oo Fed ol (P @ RER,
9t & i) 1

Increase in quantity supplied due to rise in price is called ......... .

(Extension of supply, contraction of supply)

(xiii) fsq Ml # q ......... qM (1929, 1942) 1

Year of world's great depression was ....... .
(1929, 1942)

(xiv) BEGRT ... qF B (e /AaRda) |

Scholarship is ........... income.

2011/ (Set : A)
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(9) 2011/ (Set : A)
(Transfer/Real)

(xv) JETH ... M B B 1
(Faet Frers, G T S <)

........... are included in money.

(only coins, currency & bank deposits)

. 1 1
T B TT = , .
(xvi) (1 ~MPC MPC)
. 1 1
Value of multiplier =......... y j
1- MPC’ MPC
[ SAf-TgEes 999 |

[ Very Short Answer Type Questions ]

2. e arferey fhd @ed § ? 2

What is micro economics ?

3. T I% @ HE § v fafew 2

Write any two characteristics of Indifference curve.

4. T gREIfEr SR S e § 7 2

What is perfect competition ?

5. ‘Wi T T H1 q9d & ? 2

2011/ (Set : A) P.T.O.
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10.

11.

(10) 2011/ (Set : A)
What do you understand by 'Stock' ?

Bt & g et HEt W TN 2

Write down the names of two primary functions of Banks.

ge & Soic O MY 97 GHEd © ¢ 2

What do you understand by deficit of budget ?

. A AW H S & orged Hal & T | 2

Write the name of two invisible items included in balance of payments.

[ TS 527 ]

[ Short Answer Type Questions ]

HRH B TAhHT AT JHE B IAHT § ST R P

Distinguish between returns to a factor and returns to a scale.

egree TR R AR Tearee gy § oWl daRu 2+2-=4

Differentiate between 'collusive oligopoly' and 'non collusive oligopoly'.

foit o e dafede o9 H FT SR 8 7 4

2011/ (Set : A)
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(11) 2011/ (Set : A)

What is the difference between private income and personal income ?

12. 3@ o & aRen # 989 § e Hivi) 4

Explain in brief, the concept of mixed income.

13. g% fafF = JOTRll &l HiSTEA Sl A S 4

What are the difficulties of barter system ?

14. EF1 Hug dor gmde $Hma & ord foRag 4

Write the meaning of control price and support price.

15. B9 % Ggee &l asmel W fewell forfem 4

Write a note on the conditions of firms equilibrium.

16. M T & Ficgd BiF & Sk HROT Sasyl 4

Explain the economic reasons for adverse balance of payments.

[ & SIS 997 |

[ Long Answer Type Questions ]

17. A H TR N ? T AN R A A e ! 2+44=6

What is law of demand ? Why does this law operates ?

AYqT

2011/ (Set : A) P.T.O.
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(12) 2011/ (Set : A)
OR

AT N HAT A R Fed © ¢ 3 A @ g o [t @ AT & 2+44=6

What is price elasticity of demand ? Explain the expenditure method to

measure it.

18. O HRFEr 1 B 7 T SRR § ofdsd d BH & e @ G A a8
e B 2+4=6

What is perfect competition ? Discuss the shortrun equilibrium of the

firm in perfect competition by way of marginal approach.

AIqT

OR

gt | T ARTE B ? 3@ T A A qdl B AR HR
2+4=6

What is Supply ? Explain factors affecting Supply.

19. THIUHR IREM § A9 F1 A © ¢ 36 g faqwaell & @l avie
i1 2+4=6

What do you understand by Monopolistic Competition ? Explain in

brief, its important characteristics.

AYqT

2011/ (Set : A)
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(13) 2011/ (Set : A)
OR

‘IR 8 e & 7 sHel faSiva] gam) 2+4-6

What is 'Oligopoly' ? Explain its characteristics.

2011/ (Set : A) P.T.O.
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CLASS : 12th (Sr. Secondary) Code No. 2011
Series : SS-M/2017

Roll No. SET : B

ST

ECONOMICS
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh Candidates)
(Evening Session)

Time allowed : 3 hours | [ Maximum Marks : 80
o FYT T F T [ 5 T F FRT J97 19 &

Please make sure that the printed question paper are contains 19
questions.

o U97-YF 4 qle7 & 3 HIX 57 T4 FIS TR T § 3 A TACYdH & G-I
77 ford)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

®  FYF FIT F TV [TGT @ FA G U, J97 B FHH HTT [7G)

Before beginning to answer a question, its Serial Number must be written.

o FUCYRaHE % & 7 @l g/ G 7 881

Don't leave blank page/pages in your answer-book.

o FTCYRTHE % GfaRFET #g o dfic TE AN o FaeTEATEr & fd v
fer@r T T e

Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.

2011/ (Set : B) P.T.O.
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(2) 2011/ (Set : B)
o GOETf STYT U To FIF-UFH GT SasT g

Candidates must write their Roll Number on the question paper.

o U F¥T % Fav @7 @ {@ 77 ghhEd & @ [ FeTe [ 7 78 & qher &
FYUT 3G T F i3 4 qar w&hHe T8 R wam

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.

T 7397 -
(i) & g S 8
(i) 9% 597 -2 freia 5% croca a7 g
T 81

(ii) 797 G 1 B FAE (i-xvi) TGS FoT & T T & I9F FoT 1 3%
&

(v) 997 G&1 2 @ 8 T SAlA-TgaAUHE J97 & 174 J9% 797 2 ofH & 8
Je9% ® FIT GG 30 K] @ 4% TEl & EET

(v) Fo7 G 9 G 16 T% TLAUHE 97 & [777 J9% 597 4 ST & 81 JA%
& ITT GHET: 60 SIG G 9% TE &I FAMeTl

(Vi) F97 GEIT 17 @ 19 7% 9 FTIHE JI7 & 75 J9F 597 6 B F 8
J9% & FY @rErT: 130 & @ 3w T8 & dhEt

2011/ (Set : B)
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2011/ (Set : B)
(vii) WWWW??#WWWWW?/ o 7ot 7 & orvE BT

g% & 797 & &1
(viii) T=-FHAT G, FAEHE T G FT T T AT TE 8
General Instructions :
() All questions are compulsory.
(i) Marks for questions are indicated against each.

(ii) Question No. 1 is divided into sixteen (i-xvi) objective type

questions. Each question carries 1 mark.
(iv) Question No. 2 to 8 are very short answer type questions carrying 2
marks each. Answer to these should normally not exceed

30 words each.

(v) Question No. 9 to 16 are short answer type questions carrying 4
marks each. Answer to these should normally not exceed

60 words each.

2011/ (Set : B) P.T.O.
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(4) 2011/ (Set : B)

(vi) Question No. 17 to 19 are long answer type questions carrying 6

marks each. Answer to these should normally not exceed
130 words each.

(vii) Internal choice is available in all long answer type questions. You

have to attempt only one of the given choice.

(viii) Word limit is not applicable to formulae, numericals and

diagrammatical questions.

[ a5 99 ]

[ Objective Type Questions ]

[T 997 % @&l e gl -

Choose the correct alternatives of the following questions :

1. (i) oTa9F%dl & # ¢ 1
(37) oreifaa () «if
(@) (&) ™ & 35 &

Human wants are :

(A) Unlimited (B) Limited
2011/ (Set : B)
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(5) 2011/ (Set : B)

(C) Negligible (D) None of these
(i) T STRRET & FHRh B - 1

(%) e (@) o

(®) = () wroe &l

Marginal utility may be :

(A) Positive (B) Negative

(C) Zero (D) All of the above
(iii) HET @ HHT A B AT FRa B € ° 1

(&7) @ (@) O

() are () =@

How many degrees the price elasticity of demand have ?
(A) Seven (B) Five
(C) Twelve (D) Two

(iv) frfefaa & @ S9- aed T=d § ? 1
(31) Tl et
(@) veweE Fod
() Sifgw ded s=d
(3) gET dEE S

Which of the following is an external economy ?

2011/ (Set : B) P.T.O.
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v)

(6) 2011/ (Set :

(A) Technical economies
(B) Managerial economies
(C) Economies of Risk

(D) Economies of information

9 A9 S 8 8, 99 ¢ 1
(1) AR >AC (@ AR=AC
(|) AR <AC (¥ TR>TC

Normal profits occurs, when :
(A) AR > AC (B) AR=AC

(C) AR < AC (D) TR > TC

(vi) 59 IR # faseg QrEl & W Bt ® 7 1

(%) ot st
(@) e

(®)  orget st

(3) = & #8 &

Selling costs has importance in which market ?
(A) Perfect competition

(B) Monopoly

(C) Imperfect competition

2011/ (Set : B)
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(7) 2011/ (Set : B)
(D) None of these

(vii) ‘TH BTG F A B A B & 7 1
(&) feord S off gfoean
(@) sREmT TR
(|) Tl
() ¥RG a@R

Who issues 'One rupee note' in India ?

(A) Reserve Bank of India
(B) Government of Haryana
(C) President
(D) Government of India
(viii) T 99 7 A B © 1
(&) 3@ = (7) omw =
(|) Yo Sfer (3) SwEa @i
Balance of payments include :
(A) Visible items
(B) Invisible items

(C) Capital transfers
(D) All of the above

fr=iferaT w7 a8t & a1 e, JaET
2011/ (Set : B) P.T.O.
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(8) 2011/ (Set : B)

State whether the following statements are true or false :

(ix) ‘gRP T ‘WrE F TR T B ol 1
There is no difference between 'Supply' and 'Stock'.
(x) STIHT § SEd $ g aed aRadwdda & # 1
All the factors of production are variable in shortrun.
(xi) of et qeR 7 9w que B 2 1
Commodities are homogeneous in perfectly competitive market.
(xii) TR & & fasbar 2 B 1

There are two sellers in oligopoly.
(xiii) GgT, ‘g & w10’ & &9 & B FAA S 1
Money acts as a 'medium of exchange'.

(xiv) Sfo o & % STYAR, “Ufdf, WA T AN H AT FA &1
1

According to J. B. Say, "Supply creates its own demand."

(xv) TdT HT ST HT B 1

Service tax is an indirect tax.

(xvi) ReR fafe X gomen & fafe @ W S@R a0 MEiRka @ S el
1

Rate of exchange is fixed by the government in case of fixed rate of

exchange.

[ S-S 999 |
[ Very Short Answer Type Questions ]
2011/ (Set : B)
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(9) 2011/ (Set : B)
2. gHfte ayedsme fF9 Feq © 7 2

What is macroeconomics ?

3. 90T &7 1 oref B 7 2

What is the meaning of demand ?

4. i & Frm wn e e 2

What is the law of supply ?

5. &) fd Rl e B 7 2

What is product differentiation ?

6. THUHR B F AT Fqn 2

Write any two features of monopoly.

7. Y % & qed mutE o g 0 2

What are two main functions of money ?

8. & & YRHM 2

Give definition of tax.

[ AU S99 ]

[ Short Answer Type Questions ]

9. % U T WA IAE H g H O HRq eAredn H 4

2011/ (Set : B) P.T.O.
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10.

11.

12.

13.

14.

15.

16.

(10) 2011/ (Set : B)

Explain the relation between total product and marginal product with

the help of diagram.

THIYHR TAT THIE TFNAT § B 577 ST T80 4

Explain any four differences between monopoly and monopolistic

competition.

e g gafte e § 91 X B ° 4

What is the difference between microeconomics and macroeconomics ?

AR Red 9% & 92 #d -9 § 7 4

What are the main functions of Reserve Bank of India ?

T 9 qgisd 58 #ed 2 ? T 39 & 9MHg Al @ gRom & e
AT BT 24+2=4

What is national income accounting ? Explain in brief, the concept of

normal residents of a country.

HUISTIR He &l e & redn &3 4
Explain diagrammatically, the under employment equilibrium.
T g T I & § o= i 4

Differentiate between revenue expenditure and capital expenditure.

SR QAT TFAT PIAA 9 H S W B 4

Distinguish between balance of trade and balance of payments.

2011/ (Set : B)
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(11) 2011/ (Set : B)
[ & TS 997 ]

[ Long Answer Type Questions ]

17. W @6 &1 © ? AN a5 H oA A9 H SR R FH M S P 2+4=6

What is demand curve ? Why does a demand curve slope downwards ?

JYqr
OR

T & T A Y Fed & ? 39 IWiad A did fheel v okl Sl e
2+4=6

What is price elasticity of demand ? Explain any four factors affecting
it.

18. O SRR aeIR & faRan @ § 2 6

What are the characteristics of a perfectly competitive market ?

Y
OR

gieEl @ e 8 gfd | fawar dor gfd § gfe’ § o qawu
3+3=6

Distinguish between extension of supply and increase in supply with

the help of diagrams.

19. U T H 74 Hl A [Afy & e Hifm) 6

Explain income method of calculating national income.
2011/ (Set : B) P.T.O.
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(12) 2011/ (Set : B)

7T
OR
et offeret & TSE o S oY 6
( #%3)
(i) worRd g A 150
(i) ISR G | Hifewehl I ARTEN 25
(iii) ™ 40
(iv) = 25
(v) ST & 30
(vi) STEN 10
(vii) fopvmn 12
(viii) FP¥d o 40
(ix) fEEEe =™ 35

Calculate national income with the help of following datas :

(‘ Crore)

2011/ (Set : B)
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(13) 2011/ (Set : B)
(i) Wages & Salary 150

(i) Contribution of owners in

social security 25
(iii) Profit 40
(iv) Interest 25
(v) Indirect tax 30
(vi) Subsidy 10
(vii) Rent 12
(viii) Mixed income 40
(ix) Depreciation 35

2011/ (Set : B) P.T.O.
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CLASS : 12th (Sr. Secondary) Code No. 2011
Series : SS-M/2017

Roll No. SET : C

ST

ECONOMICS
[ Hindi and English Medium |
ACADEMIC/OPEN
(Only for Fresh Candidates)
(Evening Session)

Time allowed : 3 hours | [ Maximum Marks : 80
o FYT T F T [ 5 T F FRT J97 19 &

Please make sure that the printed question paper are contains 19
questions.

o U97-YF 4 qle7 & 3 HIX 57 T4 FIS TR T § 3 A TACYdH & G-I
77 ford)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

®  FYF FIT F TV [TGT @ FA G U, J97 B FHH HTT [7G)

Before beginning to answer a question, its Serial Number must be written.

o FUCYRaHE % & 7 @l g/ G 7 881

Don't leave blank page/pages in your answer-book.

o FTCYRTHE % GfaRFET #g o dfic TE AN o FaeTEATEr & fd v
fer@r T T e

Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.

2011/ (Set : C) P.T.O.
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(2) 2011/ (Set : C)
o GOETf STYT U To FIF-UFH GT SasT g

Candidates must write their Roll Number on the question paper.

o U F¥T % Fav @7 @ {@ 77 ghhEd & @ [ FeTe [ 7 78 & qher &
FYUT 3G T F i3 4 qar w&hHe T8 R wam

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.

T 7397 -
(i) & g S 8
(i) 9% 597 -2 freia 5% croca a7 g
T 81

(ii) 797 G 1 B FAE (i-xvi) TGS FoT & T T & I9F FoT 1 3%
&

(v) 997 G&1 2 @ 8 T SAlA-TgaAUHE J97 & 174 J9% 797 2 ofH & 8
Je9% ® FIT GG 30 K] @ 4% TEl & EET

(v) Fo7 G 9 G 16 T% TLAUHE 97 & [777 J9% 597 4 ST & 81 JA%
& ITT GHET: 60 SIG G 9% TE &I FAMeTl

(Vi) F97 GEIT 17 @ 19 7% 9 FTIHE JI7 & 75 J9F 597 6 B F 8
J9% & FY @rErT: 130 & @ 3w T8 & dhEt

2011/ (Set : C)
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2011/ (Set : C)
(vii) WWWW??#WWWWW?/ o 7ot 7 & orvE BT

g% & 797 & &1
(viii) T=-FHAT G, FAEHE T G FT T T AT TE 8
General Instructions :
() All questions are compulsory.
(i) Marks for questions are indicated against each.

(ii) Question No. 1 is divided into sixteen (i-xvi) objective type

questions. Each question carries 1 mark.
(iv) Question No. 2 to 8 are very short answer type questions carrying 2
marks each. Answer to these should normally not exceed

30 words each.

(v) Question No. 9 to 16 are short answer type questions carrying 4
marks each. Answer to these should normally not exceed

60 words each.

2011/ (Set : C) P.T.O.
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(4) 2011/ (Set : C)

(vi) Question No. 17 to 19 are long answer type questions carrying 6

marks each. Answer to these should normally not exceed
130 words each.

(vii) Internal choice is available in all long answer type questions. You

have to attempt only one of the given choice.

(viii) Word limit is not applicable to formulae, numericals and

diagrammatical questions.

[ a5 99 ]

[ Objective Type Questions ]

[T 997 % @&l e gl -

Choose the correct alternatives of the following questions :

1. () R G 29 # AEFl @ FREGAQ g6 SC A e @ % (PPC) H
T Rafq & ? 1

(37) SRS WHE 96 SR SR X & Rawe S
(3) SR dHE 9 aE X e @ Rawe S

2011/ (Set : C)
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(5) 2011/ (Set : C)
(9) SR d9EeT 9% H B 9Raad Tel erm

(@ SR T G ¥

If the efficiency of the resources of a country improved then what

will be the positions of the Production Possibility Curve ?

(A) Production possibility curve will shift upwards to the right.
(B) Production possibility curve will shift downwards to the left.
(C) Production possibility curve will not change.

(D) All the above are correct.

(i) ‘B qAT YIS P HET FeAwl § ¢ 1
(31) T (@) e
(@) b= (@ =

'Demand of Car and Petrol' is called :
(A) Complementary

(B) Substitution

(C) Unit

(D) Zero
(i) ST HHIT I A BN &, A FA SCGRA SN 1
(%) = (@) =oTeT

2011/ (Set : C) P.T.O.
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(6) 2011/ (Set : C)
(|) otfeeRaH (&) = @ #1578

When marginal production is zero, then total production will be :
(A) Zero (B) Negative

(C) Maximum (D) None of these

(iv) &I HHH g 1

_ AR
Q

MR
) AR=——
@) ar=

:ATR

AQ

(a1) TR

(®) MR

(¥ AR=TRxQ

Choose the right/correct equation :

(A) TR = AR
Q

(B) AR = MR
Q

(©) MR = ATR
AQ

(D) AR=TRx Q

(v) IS HEd H HeRer 6 S g o 1

2011/ (Set : C)
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(7) 2011/ (Set : C)
(37) Ty A (@) orf-orama A

(@) ddea & (7) orfa-deem &

Market price is determined in :
(A) Shortrun (B) Very Shortrun
(C) Longrun (D) Very Longrun
(vi) R Red 9% &t e g af § g3 ? 1
(31) 1905 # (@ 1920 %
(@) 1935 # (&) 1995 #
In which year, the Reserve Bank of India is established ?

(A) 1905 (B) 1920
(C) 1935 (D) 1995

(vii) I MPC = 0.8 %, @ % (K) & & &fm : 1
(1) 1 @ 2
(®) 4 (@ s

If MPC = 0.8, then the value of multiplier will be :

(A) 1 (B) 2
) 4 (D) 5
(viii) S ggd e fhE af ¥ URY g 7 1
2011/ (Set : C) 5T o
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(31) 19447 (@) 1960 &

(@) 1994 & (&) 1947 &

Brettan Woods system is started from which year ?
(A) 1944 (B) 1960

(C) 1994 (D) 1947

eI #o g8l & ar T, JaET -

State whether the following statements are true or false :

(ix) Fole JGT B TH-IAE @0 A Feqd g 1

Budget line is also known as Iso-product line.

(x) FrowT aggell W AN & FEE @n e Bl 1
Law of demand is applicable on Giffen goods.

(xi) Hed FRwA B FEH P W AN 787 ok ol

Law of diminishing returns is not applicable on agriculture.

(xif) Qo7 SRR & &g &HiFd, dH A & 9K el ol 1

Under perfect competition, price is always equal to marginal cost.

(xiii) ‘THITEER’ § HHG A9 G S gl 1
Price discrimination is possible in 'monopoly'.
(xiv) 9RG ¥, RBI &0 g o fhe s 2 1

2011/ (Set : C)
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In India, RBI issues the coins.

(xv) @9 S99 YgfT (MPS) dOT SHFG SN 59T (MPC) & 3°T T il 2l
1

The sum of Marginal Propensity to Save and Marginal Propensity

to Consume is always one.

(xvi) T Y, AR A9 & &OKa gren & 1

Balance of payment is a broader concept than balance of trade.

[ Sic-STEEeT® 59 |

[ Very Short Answer Type Questions ]

2. fee F o gae i Gt 2

Give the wealth definition of economics.

3. AN % 8 Fed 8 ? 5

What is demand function ?

4. % HgE B A T E 2 >

What are the conditions for equilibrium of a firm ?

5. BEIAL oMF & & IS &g 2

Give two examples of transfer payment.

6. T &5 9 T4 AR ' ? 2

2011/ (Set : C) P.T.O.
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What do you understand by primary sector ?

7. JB & <l g uras HE B A SdR 2

State any two primary functions of Banks.

8. & FH qRHAT T 2

Give the definition of Tax.

[ AU S99 ]

[ Short Answer Type Questions ]

9. Ru T Sifwel H TorEd & A ¢t AR T SAEd IR A FG HiOT

040-4
I (3% ERIEN 2 | L | TP
5 A () 100|120| 140|182 | 198 208|232

Calculate Total fixed cost and Average variable cost with the help of

given data :

Production (Units) | O 1 2 3 4 S 6

Total Cost () 100|120|140|182|198|208|232

10. THHR T Tf gRrfar & $F g7 o) Jasy 4

State any four differences between monopoly and perfect competition.
2011/ (Set : C)
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11.

12.

13.

14.

15.

16.

17.

(1) 2011/ (Set : C)
TRl SfoAIeT @ g7 FaAae SRy 4

State four features of imperfect/monopolistic competition.

qeed) qu SAfaH aEgel H R W ) 4

Differentiate between intermediate and final goods.

R 9% & fhel gIv HE B GAY F g H 4

Explain in brief, four functions of Central Bank.

‘wa=t Ay e aRg Far § ofax we Sifs 4

Differentiate between autonomous investment and induced investment.

FX % T fadwan fafaw 4

Write down the main features of tax.
‘I QI AT AUR QY H S HS 4
Differentiate between 'balance of payments' and 'balance of trade'.
[ € ST ue |
[ Long Answer Type Questions ]
A & w7 ae Frem @ arg a8 ?

2+4=6

What is Law of Demand ? Why does this law operates ?

2011/ (Set : C) P.T.O.
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e

OR

AT &1 A A B A P S Y @ @ &1

Explain the proportionate method of price elasticity of demand.

18. T sfefiar 8 Fed § ? Ol afcrifier & oy Refd § o & dge @ e

fafr g =mer 1
2+4=6

What is perfect competition ? Discuss shortrun equilibrium of the firm

in perfect competition by marginal approach.

Yqr
OR

EieEl @ wEEd O # e qen gl § gl | Siar samsy
6

Distinguish between 'Extension of Supply' and 'Increase in Supply with
the help of diagrams.

19. T o AWA & ‘@9 [y @ @ S 6

Explain the 'Expenditure method' of measuring the national income.
YT

2011/ (Set : C)
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OR

ABq IO I o F AT B ? 39 AT F by g9 o 9har § 7
3+3=6

What is meant by the error of double counting ? How can it be avoided
?

2011/ (Set : C) P.T.O.
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Time allowed : 3 hours | [ Maximum Marks : 80
o FYT T F T [ 5 T F FRT J97 19 &

Please make sure that the printed question paper are contains 19
questions.

o U97-YF 4 qle7 & 3 HIX 57 T4 FIS TR T § 3 A TACYdH & G-I
77 ford)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

®  FYF FIT F TV [TGT @ FA G U, J97 B FHH HTT [7G)

Before beginning to answer a question, its Serial Number must be written.

o FUCYRaHE % & 7 @l g/ G 7 881

Don't leave blank page/pages in your answer-book.

o FTCYRTHE % GfaRFET #g o dfic TE AN o FaeTEATEr & fd v
fer@r T T e

Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.
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(2) 2011/ (Set : D)
o GOETf STYT U To FIF-UFH GT SasT g

Candidates must write their Roll Number on the question paper.

o U F¥T % Fav @7 @ {@ 77 ghhEd & @ [ FeTe [ 7 78 & qher &
FYUT 3G T F i3 4 qar w&hHe T8 R wam

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.

T 7397 -
(i) & g S 8
(i) 9% 597 -2 freia 5% croca a7 g
T 81

(ii) 797 G 1 B FAE (i-xvi) TGS FoT & T T & I9F FoT 1 3%
&

(v) 997 G&q1 2 @ 8 T SHlA-TgAUHE J97 & 174 J9% 797 2 ofH & 8
Je9% ® FIT GG 30 K] @ 4% TEl & EET

(v) Fo7 G 9 G 16 T% TLAUHE 97 & [777 J9% 597 4 ST & 81 JA%
& ITT GHET: 60 SIG G 9% TE &I FAMeTl

(Vi) F97 GEIT 17 @ 19 7% 9 FTIHE JI7 & 75 J9F 597 6 B F 8
J9% & FY @rErT: 130 & @ 3w T8 & dhEt
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(vii) WWWW??#WWWWW?/ o 7ot 7 & orvE BT

g% & 797 & &1
(viii) T=-FHAT G, FAEHE T G FT T T AT TE 8
General Instructions :
() All questions are compulsory.
(i) Marks for questions are indicated against each.

(ii) Question No. 1 is divided into sixteen (i-xvi) objective type

questions. Each question carries 1 mark.

(iv) Question No. 2 to 8 are very short answer type questions carrying 2
marks each. Answer to these should normally not exceed

30 words each.

(v) Question No. 9 to 16 are short answer type questions carrying 4
marks each. Answer to these should normally not exceed

60 words each.

(vi) Question No. 17 to 19 are long answer type questions carrying 6
marks each. Answer to these should normally not exceed
130 words each.

2011/ (Set : D) P.T.O.
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(vii) Internal choice is available in all long answer type questions. You

have to attempt only one of the given choice.

(viii) Word limit is not applicable to formulae, numericals and

diagrammatical questions.

[ a5 99 |

[ Objective Type Questions ]

[T ge7 % Gel [awed giad -

Choose the correct alternatives of the following questions :

1. () [=fafed § 9 fF-a1 @fte Jdae & T & ¢ 1
(&)
(3) @
(®) =
(3) = @& R

Which of the following is a study of micro-economics ?

(A) National income

2011/ (Set : D)
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(B) Aggregate demand

(C) Trade cycle
(D) Law of demand

(i) Frow agg @ Refa &, 967 3% &1 @@ S © :
&) G

q) FOMHD

|

(
(
(@) OX-31& & TR
(

OY-378] & FHMIY

&

In case of giffen goods, the slope of demand curve is :
(A) Positive

(B) Negative

(C) Parallel to OX

(D) Parallel to OY

(i) MC 9, AC T % 39 Rafy & wrear &, 99« 1
() AC e = # R AR @ Bl &
() ACTF FW &l X IS @ B B

(A) AC T W o B

2011/ (Set : D) P.T.O.
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(&) T & #8 T

MC curve cuts AC curve, when :
(A) AC curve is falling

(B) AC curve is rising

(C) AC curve is minimum

(D) None of these

(iv) eI @k el fog B ST ..o gt Bl
(&) R
(%) s
(@) el Y
(@) =@ Q& B T
Indifference Curve is ............ to the origin.

(A) Concave

(B) Convex

(C) Straight line
(D) None of these

() 9O SR § W & dge @ Ref A 2, oW
1

() MC=TR (@ MC=MR
2011/ (Set : D)

Downloaded from cclchapter.com



(7) 2011/ (Set : D)

(@) McC=TC (7 AC=aAR

Under condition of perfect competition the firm is in equilibrium,
when :

(A) MC=TR (B) MC = MR

(C) MC=TC (D) AC =AR

(vi) frefafea & § &8 oM @ THen de-ar i § gk g ?

1
(31) oma fafy & (@) == fafy &
(@) Sw= oy () Swe &« A

Which of the following method deals with the problem of double

counting ?

(A) Income method

(B) Expenditure method
(C) Product method

(D) All of the above
(vii) ARG & TH YA H T BN AR BT & 7 1
(1) s ®e 9%

(@) ¥RT TR

2011/ (Set : D) P.T.O.
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(|) «a Rea d%

() =i %
Who issues one rupee note in India ?

(A) State Bank of India

(B) Govt. of India
(C) Reserve Bank of India

(D) Commercial Banks
(viii) gf¢ MPC = 0.5 & I, 9% (K) Bl e B ¢ 1
(1) 1 (®) 8
(|) 2 (®) 5
If MPC = 0.5, then value of multiplier (K) will be :

A) 1 (B) 8

(C) 2 (D) 5

=i &7 @&t & ar T, AT -

State whether the following statements are true or false :

(ix) i, e q AfE® 2 Tl ol 1

Supply can exceed stock.

(x) e agy, 90 & FREW & STeER B 1
2011/ (Set : D)
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'Giffen Good' is an exception to the law of demand.

(xi) TEEIAT I IR SYARET T &R 2 1

Utility remains same on an indifference curve.

(xii) STIHT TH YA BT 2l 1
Income tax is a direct tax.

(xiﬁ)gvﬂsaﬂlfq=%. 1

Value of multiplier = ———.
1- MPS

(xiv) ST U9, TEF T & A il B 1

Old age pension is included in national income.

(xv) el Fas = & M + IF B 1
Gross investment = Net investment

+ Depreciation

(xvi) MR Y T FIAOW AT F =R G0 0 81

There is difference between balance of trade and balance of

payments.

[ SHic-STEEReT® 59 |

[ Very Short Answer Type Questions ]

2. ITRiH THET & F FRO E 7 2

What are the causes of Economic Problem ?

2011/ (Set : D) P.T.O.
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. = Fife @ /afear agge @@ eni § 7 2

What are inferior goods ?

. TN 3 ufqwa @ @ o B 7 2

What are returns to scale ?

. ‘TH 3 B G NaEr § ST F gHed 8§ 7 2

What do you understand by 'Normal residents of a country' ?

. ‘FHERAl % TIRAE @ AT O § ¢ 2
What do you understand by 'Compensation of Employees' ?

. NG SR & § FE FABEU 2

State two functions of Commercial Banks.

. fafr g & & 9 g 2

Give definition of exchange rate.

[ AU 89 ]

[ Short Answer Type Questions ]

. ‘SOIC @ & 9T 31 foer 9fed e # 2+2=4

Define 'Budget Line'. Explain along with diagram.

2011/ (Set : D)
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10. H1T @6 & A [T gRRefal & arcs Sar 2 ¢ 4

Under which conditions, a demand curve has positive slope ?

11. o= |’ aar ‘auds Hma’ & o fafaw 4

Write the meaning of 'Control Price' and 'Support Price'.

12. THfe Spieme & &5 @ &Y § R & 4

Explain in brief, the scope of macroeconomics.

13. a1 & 8 ¢ il & Hren i) 4

Explain any four functions of money.

14. T ASFIR Gger & = qfed e Sifvm) 4

Explain the full employment equilibrium with the help of diagram.

15. Y8l T STl i § 7 fax g ? 4

What is difference between direct and indirect taxes ?

16. ‘FON ¥ TN LA AW § FX T HioC 4

Distinguish between the 'balance of trade' and 'balance of payments'.

[ S S09 9997 ]

[ Long Answer Type Questions ]
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17. A0 & HAG AT HH Fed © ¢ 39 A B B A A B AR FR 2 +

4-6

What is price elasticity of demand ? Explain the total expenditure

method to measure it.

AYqT

OR

AT 36 HT S 7 AT 9 G A H AR R PR M S ! 2+44=6

What is demand curve ? Why does a demand curve slope downwards ?

18. UK ™ A9 &l MY [y & e i) 6

Explain Income Method of measuring national income.

ST
OR
e UM B T J o ST B ? 39 AW 9 %A 91 of 9%l § 7
3+3=6

What is meant by the error of double counting ? How it can be avoided

?

19. STIMYHR fhd ®ed § ? sod! Odvan sai| 2+4-6
2011/ (Set : D)
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What is oligopoly ? Explain its characteristics.

AYAT

OR

gt sfeERl R it v TaET 6

Explain the characteristics of perfectly competitive market.
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